#### AREA "A" SOUTHERN TURNPIKE FROM DISTRICT 1 THROUGH INTERCHANGE 9

A	В		C	D	B x D TOTAL
ITEM	QUAN	UOM	DESCRIPTION	UNIT PRICE	DOLLAR AMOUNT
1.	320	MILE	RATE FOR MILEAGE TRAVELTO & FROM SITEAS PER SPECIFICATIONS	<b>\$</b> 1	\$ 320
			HOURLY RATE FOR MECHANIC ON	\$ 225	\$9000
2.	40	HOURS	HOURLY RATE FOR MECHANIC ON		
3.	40	HOURS	OVERTIME AS PER SPECIFICATIONS HOURLY RATE FOR HELPER ON	\$ 250	\$10,000
4.	40	HOURS HOURS	HOURLY RATE FOR HELPER ON OVERTIME AS PER SPECIFICATIONS	\$ 75 \$ 105	\$3,000
5.	Discountereplaceme	\$4,200			
6	(Discount	\$11,250			
6. (Mfg list \$12,500) - (Bidders discount off Manufacturers List Price 20 %) = \$10,000.00  Total Cost of Area "A" Line items 1 through 6 =					\$ 37,770

#### AREA "B" NORTHERN TURNPIKE FROM 92 PUMP HOUSE THROUGH DISTRICT 10

A	В	VO. 4	C	D UNIT	B x D TOTAL DOLLAR
ITEM	QUAN	UOM	DESCRIPTION	PRICE	AMOUNT
1.	320	MILE	RATE FOR MILEAGE TRAVELTO & FROM SITEAS PER SPECIFICATIONS	\$ 1	\$ 320
2.	40	HOURS	HOURLY RATE FOR MECHANIC ON STRAIGHT TIME AS PER SPECIFICATIONS	\$225	\$ 9,000
3.	40	HOURS	HOURLY RATE FOR MECHANIC ON OVERTIME AS PER SPECIFICATIONS	\$250	\$ 10,000
4.	40	HOURS	HOURLY RATE FOR HELPER ON STRAIGHT TIME AS PER SPECIFICATIONS	\$ 75	\$ 3,000
5.		ent of doo	HOURLY RATE FOR HELPER ON OVERTIME AS PER SPECIFICATIONS facturer's List Price for Parts used in servicers. This discount will be used for all needed supplied by the successful bidder.		\$ 4200
	(Discoun	\$ 11,250			
6. (Mfg list \$12,500) - (Bidders discount off Manufacturers List Price <u>20</u> %) = \$10,000.00  Total Cost of Area "B" Line items 1 through 6 =					\$ 37,770

## AREA "C" SOUTHERN GARDEN STATE PARKWAY FROM MILEPOST 0 THROUGH MILEPOST 91.8

A	В	i	С	D UNIT	B x D TOTAL DOLLAR
ITEM	QUAN	UOM	DESCRIPTION	PRICE	AMOUNT
1.	320	MILE	RATE FOR MILEAGE TRAVELTO & FROM SITEAS PER SPECIFICATIONS	\$1	\$320
	40	HOLIBG	HOURLY RATE FOR MECHANIC ON		
2.	40	HOURS	STRAIGHT TIME AS PER SPECIFICATIONS	\$225	\$ 9,000
3.	40	HOURS	HOURLY RATE FOR MECHANIC ON OVERTIME AS PER SPECIFICATIONS	\$250	\$10,000
4.	40	HOURS	HOURLY RATE FOR HELPER ON STRAIGHT TIME AS PER SPECIFICATIONS	<b>\$</b> 75	\$ 3,000
5.	40		HOURLY RATE FOR HELPER ON OVERTIME AS PER SPECIFICATIONS acturer's List Price for Parts used in service	<b>\$</b> 105	\$4,200
	Discounte replaceme replaceme				
	(Discoun	\$ 11,250			
6.	Discount (Mfg list S				
Total Cost of Area "C" Line items 1 through 6 =					\$ 37,770

# AREA "D" NORTHERN GARDEN STATE PARKWAY FROM MILEPOST 91.8 THROUGH MILEPOST 163.

A ITEM	B	UOM	C DESCRIPTION	D UNIT PRICE	B x D TOTAL DOLLAR AMOUNT
I I E/IVI	QUAIN	UOIVI	DESCRIPTION	IMCE	AMOUNT
1.	320	MILE	RATE FOR MILEAGE TRAVELTO & FROM SITEAS PER SPECIFICATIONS	\$ 1	\$ 320
2.	40	HOURS	HOURLY RATE FOR MECHANIC ON STRAIGHT TIME AS PER SPECIFICATIONS	\$ 225	\$ 9,000
3.	40	HOURS	HOURLY RATE FOR MECHANIC ON OVERTIME AS PER SPECIFICATIONS	\$250	\$ 10,000
4.	40	HOURS	HOURLY RATE FOR HELPER ON STRAIGHT TIME AS PER SPECIFICATIONS	<b>\$</b> 75	\$ 3,000
5.		ent of doo	HOURLY RATE FOR HELPER ON OVERTIME AS PER SPECIFICATIONS acturer's List Price for Parts used in servicers. This discount will be used for all needed supplied by the successful bidder.		\$ 4,200
6.	(Discount  Discount  (Mfg list	\$ 11,250			
Total Cost of Area "D" Line items 1 through 6 =					\$ 37,770